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Paper One
Part Ⅰ  Listening Comprehension(15minutes 15%)(共15题 略)

Part II  Reading Comprehension:
Directions: There are some reading passages in this part. Each passage is followed by five questions. For each of them there are four choices marked A, B, C and D. You should decide on the best choice and write down the corresponding letter in the Answer Sheet.
A library is more than just a place where books are stored. A library is a source of information. That information may come from books (fiction, nonfiction, or reference books), from periodicals (newspapers, magazines, and journals), from audio-visual material (records,  cassettes microfilm, video tapes, etc. ), or even from a computer terminal.
     Students go to libraries to study and to write research papers. The periodicals room of a university library is where foreign students often find newspapers and magazines from their countries. In the reference room, they can find catalogs from many universities in the U.S. and other countries. If you are buying a used car, the reference librarian can show you the Blue Book, which lists the prices of new and used cars. People who need information in a hurry can telephone the reference librarian at many libraries.
     （86）There are as many different library services as there are types of people who use them.  Childrens libraries provide materials for young readers. They sometimes have story tellers who read stories to groups of children, and a few have computers for the children to play with. Music lovers can listen to recordings of their favorite musicians in music libraries. Some libraries offer special services for blind people, such as books in Braille, "talking" books, and Kurzweil Reading Machines.
     Libraries provide entertainment as well as information. Novels and short stories from a librarys fiction collection are a good source of enjoyable reading practice. Public libraries often sponsor lectures on topics of interest to members of the community, and a few even offer concerts and films. No matter what your interests are, you will find that a library can be a great place to enjoy yourself while you learn.
16 In libraries readers can get information from          .
A. computer terminal, books, periodicals, or nonfiction
B. books, periodicals, audio-visual materials or  video apes          
C. periodicals, books, audio-visual materials or a computer terminal
D. materials, reference books ,  periodicals, audio-visual or journals  
17.In the reference room  of  the  library  you can  find _________.
A. materials for young readers                    B. university catalogs        
C. newspapers and magazines                    D. the fiction collection  
18. Foreign students often go to           to read newspapers and magazines from their countries.
A. periodical rooms       B. reference rooms      C. music rooms     D. computer centers
19. The last sentence in the last paragraph implies that readers can         .
A. find entertainment and information in a library
B. read both novels and short stories in a bookstore
C. enjoy concerts and films in a theater
D. attend many lectures at colleges
20.What is the main idea of the passage is that_____
A. There are many kinds of libraries.
B. A library is a place where books are stored.
C. Libraries provide entertainment.
D. Libraries offer many different services.
Very old people do raise moral problem for almost everyone who comes into touch with them. Their values－this can’t be repeated too often－are not necessarily our values. Physical comfort, cleanness and order are not necessarily the most important for them. The social services from time to time find themselves faced with a flat with going-bad food covered with dust on the table, and an old person lying alone on bed, taking no notice of anything. Is it doing harm to personal freedom to insist that they go to live with some of their relatives so that they might be taken better care of? Some social workers are the ones who clean up the dust, thinking we are in danger of carrying this idea of personal freedom to the point where serious risks are being taken with the health and safety of the old. 

Indeed, the old can be easily hurt or harmed. The body is like a car: it needs more care as it gets older. You can carry this comparison right through to the provision of spare parts. (87) But never forget that such operations are painful experiences, however good the results. And  at what point should you stop treating the old body? Is it right to try to push off death by using drugs to excite the forgetful old mind and to activate the old body, knowing that there is little hope? You cannot ask doctors or scientists to decide, because so long as they can see the technical opportunities, they will feel sure to have a try on the belief that while there’s life, three’s hope. 

When you talk to the old people, however, you are forced to the conclusion that whether age is happy or unpleasant depends less on money or on health than it does on your ability to have fun. 

21. From Paragraph 1, we can infer that ______. 

A. very old people enjoy living with their relatives 

B. social services could have nothing to do with very old people 

C. very old people prefer to live alone so that they can have more personal freedom

D. very old people are able to keep their rooms clean 

22. According to the passage, some social workers think that _______. 

A. health and safety are more important than personal freedom 

B. personal freedom is more important than health and safety 

C. old people should have the idea of cleaning their rooms

D. one should not take risks of dealing with old people

23．In the author’s  opinion,             .

A. the human body can’t be compared to a car 

B. the older a person ,the more care he needs

C. too much emphasis has been put on old people’s values

D. physical comfort, cleanness and order are necessary to the old 

24.The italicized word“it”in the last paragraph refers to _______. 

A. whether age is happy or unpleasant              B. the conclusion you have come to 

C. one’s money or one’s health                    D. your talk to the old people 

25.The author thinks that _______. 

A. medical decisions for the old people should be left to the doctors 

B. old people can enjoy a happy life only if they are very rich 

C. the opinion that we should try every means possible to save old people is doubtful

D. it is always right to treat old people and push off death 
Without proper planning, tourism can cause problems. For example, too many tourists can crowd pubic places that are also enjoyed by the inhabitants of a country. If tourists create too much traffic, the inhabitants become annoyed and unhappy. They begin to dislike tourists and to treat them impolitely. They forget how much tourism can help the country’s economy. It is important to think about the people of a destination country and how tourism affects them. Tourism should help a country keep the customs and beauty that attract tourists. Tourism should also advance the well-being of local inhabitants.

Too much tourism can be a problem. (88)If tourism grows too quickly, people must leave other jobs to work in the tourism industry. This means that other parts of the country’s economy can suffer.

On the other hand, if there is not enough tourism, people can lose jobs. Businesses can also lose money. It costs a great deal of money to build large hotels, airports, air terminals, first-class roads, and other support facilities needed by tourist attractions. For example, a major international-class tourism hotel can cost as much as 50 thousand dollars per room to build. If this room is not used most of the time, the owners of the hotel will lose money.

Building a hotel is just a beginning. There must be many support facilities as well, including roads to get to hotel, electricity, sewers to handle waste, and water. All of these support facilities cost money. If they are not used because there are not enough tourists, jobs and money are lost.

26.The world “ inhabitants” in the first paragraph means      .

A. tourists         B. passengers        C. citizens          D. population 

27. Too much tourism can cause all these problems EXCEPT______

A. a bad effect on other industries         B. a change of tourists’ customs 

C. over-crowdedness of places of interest   D. pressure on traffic

28.It can be inferred from the text that            .

A. the author doesn’t like tourism developing so fast

B. local people will benefit from tourist attraction 

C. other parts of a country’s economy won’t benefit from tourist

D. we can’t build too many support facilities

29.The author thinks it is good for local people to know that tourism will            .

A. waste a lot of money   B. weaken their economy

C. help establish their customs  D. help improve their life

30. The main idea of the passage is              .

A. tourism burdens the local people with many problems

B. tourism needs a proper planning

C. tourism must be supported by building and hotels

D. tourism can provide people more jobs
The universities have trained the intellectual pioneers of our civilization—the priests, the lawyers, the statesmen, the doctors, the men of science, and the men of letters。 The conduct of business now requires intellectual imagination of the same type as that which in former times has mainly passed into those other occupations。 

There is one great difficulty which hampers all the higher types of human endeavor。 In modern times this difficulty has even increased in its possibilities for evil。 In any large organization the younger men, who are novices, must be set to jobs which consist in carrying out fixed duties in obedience to orders。 No president of a large corporation meets his youngest employee at his office door with the offer of the most responsible job which the work of that corporation includes。 The young men are set to work at a fixed routine, and only occasionally even see the president as he passes in and out of the building。 Such work is a great discipline。 It imparts knowledge, and it produces reliability of character; also it is the only work for which the young men, in that novice stage, are fit, and it is the work for which they are hired。 （89）There can be no criticism of the custom, but there may be an unfortunate effect that prolonged (长久的)routine work dulls the imagination。 

   The way in which a university should function in the preparation for an intellectual career, such as modern business or one of the older professions, is by promoting the imaginative consideration of the various general principles underlying that career。 Its students thus pass into their period of technical apprenticeship with their imaginations already practiced in connecting details with general principles。 The routine then receives its meaning, and also illuminates the principles which give it that meaning。 Hence, instead of a drudgery issuing in a blind rule of thumb, the properly trained man has some hope of obtaining an imagination disciplined by detailed facts and by necessary habits。 

   Thus the proper function of a university is the imaginative acquisition of knowledge。 Apart from this importance of the imagination, there is no reason why business men, and other professional men, should not pick up their facts bit by bit as they want them for particular occasions。 A university is imaginative or it is nothing-at least nothing useful。 

31. According the passage,             is a basic requirement for work in all professions.

A. imagination                            B. reliability of character 

C. discipline                              D. obedience to orders

32. Which of the following serves best as the title of the passage?

A. Limitation of the University               B. The Proper Function of the University

C. Importance of Intellectual Imagination       D. Absurdity of Apprenticeship Period

33. In modern times, the period of technical apprenticeship         .

A. may have bad effects upon the young man 

B. can very well train the young man 

C. is a root cause if many evils

D. is unnecessary for the employee and the business

34. If a university is to be of any use, it should prepare the student for an intellectual career by        .

A. offering knowledge and developing skills

B. developing student’s independence in thinking

C. disciplining the students in their subject fields

D. promoting the imagination in connecting details with general principles

35. What’s the “ great difficulty which gets in the way of all the higher types of human effort”?

A. Prolonged and fixed routine work in the apprenticeship period

B. The young employee’s seldom seeing the president of the company.

C. Universities’ failure to get young people ready for future work.

D. Young men having to obey orders in  the early stage of their work

PartIII  Vocabulary and structure:
Directions: There are 40 incomplete sentences in this part. For each sentence there are 4 choices marked A, B, C, and D. Choose the one that best completes the sentence.
36.We learned that the next entertainment would        of ballet entitled The Golden Harvest.

A. consist            B. insist              C. resist              D. assist

37. Overwork often         illness. You must be careful about your health now.

A. induces            B. reduces            C. introduces          D. produces

38.We were completely          when we finally reached the destination.

A. worn off           B. worn down         C. worn out           D. worn away

39.Time presses. It’s no use talking only. Let’s         to some solid work.

A. come down        B. lay down           C. get down           D. look down

40.When you apply for your passport to be renewed , you have to send a      Photograph.

A. fresh             B. present             C. recent             D. modern

41.The old lady was standing by an electric heater, and her nightdress      fire.

A. took             B. caught              C. started            D. set

42.They will be given an opportunity to exchange        next week.

A. voices            B. views              C. visions            D. minds

43.Although they had a quarrel the other day, Jim and Peter are now on friendly terms         .

A as well            B. as soon            C. as usual            D. as normal

44.The engineer’s hard work and popularity led to his rise in salary and        in position.

A. possession        B. promotion           C. resolution         D. regulation

45.While in London , we pay a visit to the hospital founded       the nurse Florence Nightingale.

A. in place of        B. in honor of           C. in favor of        D. in line with

46.As is known to all, hot metal         as it grows cooler.

A. contracts          B. retreats             C. condenses         D. compresses

47.I’m going to buy a house, modern comfortable and          in a quite environment.

A. before            B. in all               C. after all           D. above all

48.Marry has great acting        ,but she needs training to be a real actress.

A. potential          B. possibility           C. probability        D. productivity

49.Even with his remarkable achievement , Mary’s husband still holds a       position in the local government.

A. little             B. minor               C. tiny             D. small

50. Proper        can ease people’s relationship and make their conversation more pleasant.

A. insult            B. speeches             C. compliments       D. noises

51.The student was just about to         the question, when suddenly he found the answer.

A. arrive at          B. submit to            C. work out          D. give up

52.Having a cup of tea while reading the newspaper is one of my favorite         .

A. manners           B. times             C. occasions         D. pastimes

53. The boy is thoroughly          because his parents always give him whatever he wants.

A. destroyed          B. spoiled           C. uneducated        D. wasted

54.It is not easy to         the ability to speak fluent English or write idiomatic English.

A. attain             B. acquire           C. obtain             D. gain 

55.When I saw Jane, I stopped and smiled, but she      me and walked on.

A. defied             B. excluded          C. missed            D. ignored

56.Not only Tom but also his wife        fond of watching television.

A. are                B. were             C. be               D. was

57. Whether the Army or the Navy        it, it should be done soon.

A. do                B. will do            C. to do            D. does

58.        great was the destruction that the South took decades to recover.

A. Very              B. Too               C. So              D. Such

59.        a certain doubt among the students as to the necessity of the work.

A. There existed       B. It existed           C. There had        D. They had

60.       may happen, we will not change our plan.

A. No matter when     B. No matter where     C. No matter who    D. No matter what

61.The farmer used wood to build a house        to store grains.

A. with which         B. to which            C. which          D. in which

62.We were all overjoyed at the news        the experiment turned out a success.

A. that               B. which              C. this            D. what

63. I intended          yesterday, but I had to attend a meeting.

A. to come           B. to be coming         C. to have come     D. that I came

64.The story was so funny that the girls         help laughing.

A. might not          B. needn’t             C. wouldn’t        D. couldn’t

65.I think much attention         your pronunciation.

A. must be paid to      B. ought to pay         C. must pay to     D. should be paid by  

Part IV  Cloze .
Directions: There are 20 blanks in the following passage. For each blank there are 4 choices marked A, B, C and D under the passage. You should choose the one that best fits into the passage.
There is no end to the magic within this circle of the world wo live in.The greatest magicians today are  ___66_____ the physicists and chemists, the mathematicians and astronomers: the wise men seeking the answers  __67____ the riddles of earth and universe. But___68_____ many of them can tell us how to walk __69____ a floor,“ by the law of gravitation” ___70__ the readiest answer    71   that.

    Gravitation is __72____ the most familiar thing in all the world, and we were all brought __73___ on the story of Newton and his apple and the law of gravitation.__74___ physicists have begun to say that gravitation may be __75____ an illusion. If it is an illusion, __76____ it is pure magic that__77____ our feet on the ground and our furniture __78____ floating off into space. And who cares, ___79___ as the magic works and the illusion is __80___? It is all a matter of vocabulary ___81___ for no town scholars have ever agreed ___82___ a definition of magic; but there is no denying __83____ every time man has finally understood and explained a __84____ he has ceased to call it magic and called it __85____ instead.
66.A. forever         B. already         C. extremely         D. still

67.A. for             B. to             C. on               D. after

68.A. not one         B. not any         C. none one          D. no any

69.A. above          B. along           C. across            D. under

70.A. used to be       B. is used to       C. has used to         D. used to be

71.A. upon           B. as             C. by                D. to

72.A. recently        B. probably        C. awfully            D. quietly

73.A. in             B. of             C. up                D. on

74.A.Lately          B. Tiny           C. Timely            D. Last

75.A.often           B. only           C. nearly             D. indeed

76.A.but             B. yet           C. and                D. then

77.A.breaks          B. puts           C. keeps              D. follows

78.A.for             B. from          C. over               D. by 

79.A.as long as       B. as if           C. so that             D. such as

80.A.covered        B. formed         C. maintained         D. adapted

81.A.really          B. fully           C. usually            D. perhaps

82.A. with           B. at             C. about             D. on

83.A.when           B. what          C. that               D. since

84.A.wander         B. wonder        C. difficulty           D. theory

85.A. science        B. weight         C. furniture           D. measure    

Paper Two

Part V Translation(15minutes 15%)
Directions: Translate the following sentences into Chinese
86. There are as many different library services as there are types of people who use them. 

87. But never forget that such operations are painful experiences, however good the results. And  at 

what point should you stop treating the old body?

88. If tourism grows too quickly, people must leave other jobs to work in the tourism industry. This 

means that other parts of the country’s economy can suffer.
89. There can be no criticism of the custom, but there may be an unfortunate effect that prolonged 

(长久的)routine work dulls the imagination。 
Part VI  Writing
Write a composition on the topic “Global Shortage of Fresh Water.” You should base your composition on the outline below:

1．We often think that water will never be used up.

2．In fact water is rather limited on the earth..

3．What should we do about the water shortage?
2005年答案详细解析
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Part II  Reading Comprehension:
图书馆并不仅是藏书之地，它是信息的源泉。那信息可以来自于书籍（小说、非小说类或是参考书），来自于各类期刊（报纸、杂志和学术刊物），来自于音像资料（唱片、盒式缩微胶卷、录像带等），或甚至来自计算机终端。

学生去图书馆学习和写学术论文。一所大学图书馆的学术期刊室是外国留学生常常可以找到他们自己国家的报纸及杂志的地方。在参考资料室，他们能找到美国及其它国家的许多大学的目录。假如你在购买一部二手车，资料室的管理员会让您看蓝皮书，其中列出新旧车的价格。急需信息的人可以电话联系许多图书馆的资料室管理员。

使用图书馆的人有多少个类型，便会有多少种不同的图书馆服务。少儿图书馆为年轻读者提供资料。他们有时会为成群的孩子提供读故事者，还有少数图书馆提供计算机给孩子们娱乐。音乐爱好者可以在音乐图书馆里听到他们所喜爱的音乐家的录音。有些图书馆为盲人提供特殊服务，如布拉耶盲文书籍、“会说话的”书籍和科兹威尔阅读机。 

除了提供信息，图书馆也提供娱乐。图书馆小说收藏处的小说故事是进行令人愉快的阅读训练的极好机会。公营图书馆时常资助那些对社区成员有益话题的讲座，而少数图书馆甚至提供人们音乐会和电影。无论您有什么兴趣爱好，您会发现图书馆时一个可以边学习边娱乐的极佳去处。

16. 在图书馆里，读者能够从        获得信息。

A．计算机终端，书籍，期刊，或者非小说类      B．书籍，期刊，音像资料，或者磁带

C．期刊，书籍，音像资料或者一个计算机终端 
D．材料，参考书，期刊，音像或者学术刊物  答案：C  由文中第一段内容“from books” ,“ from periodicals”,“ from audio-visual material” ,“ from computer terminal”可知。注意括号中为包含项。

17. 在图书馆的参考资料室，您能找到           。

A．适合年轻人的资料     B．大学的目录      C．报纸及杂志      D．小说集

答案：B  由文中第二段内容“In the reference room, they can find catalogs from many universities in the U.S. and other countries.”可知.

18. 外国学生经常去        去读来自他们国家的报纸和杂志。

A．学术期刊室           B．参考资料室      C．音乐室          D．计算机中心

答案：A  由文中第二段第二句“The periodicals room of a university library is where foreign students often find newspapers and magazines from their countries.”可知。

19. 最后一段的最后一句表明读者可以             。

A．在图书馆里找到娱乐和信息            B．在藏书处可以读到小说和短篇故事

C．在一个剧院里享受音乐和电影          D．在大学里参加很多讲座

答案：A  由文中最后一段第一句“Libraries provide entertainment as well as information.”可知。

20. 这篇文章的主要意思是         。

A．图书馆有很多种类        B．图书馆是储藏书籍之地         C．图书馆提供娱乐

D．图书馆提供许多不同的服务        答案：D  综合全文内容可知。

对于与高龄人打交道的几乎每一个人来说，他们的确会引发道德问题。他们的价值观不一定与我们的相同。身体的舒适度、洁净度及条理性不一定是最重要的事情。参与社会服务的人员不时发现，他们所面对的是这样的一套公寓：变了质的食物上爬满了小虫，而屋子里只有一位老人躺在床上，并不把食物中的小虫当回事。然而，如果坚持邀请他们去与他们的一些亲戚居住在一起以使他们得到更好的照顾，这样做是否又在干涉他们的人身自由呢？一些帮助清理小虫的人员认为，我们正面临这样的危险处境，即把人身自由这一概念强化到这样的地步，以至于冒着危害老人健康和安全的极大危险。

    的确，老人们极易受到伤害或损伤。人的身体正如汽车一样，当它年岁变高，便需要更多的机械维修。你可以将它直接比作零部件的供给。但是，千万记住，这种操作经历是痛苦的，无论其结果有多好。该在何时才能放弃对老年人的医治？在清除死亡已是不可避免的情况下，却尽力通过寻求特效药物以使健忘且已功能衰竭的大脑得以激发，衰老的身躯得以激活，从而驱走死亡的阴影，这种做法从道义上说是否正确？你不能让医生或科学家作决定，因为只要能看到技术性机会，他们就觉得有必要进行尝试，其原则是：有了生命，便会有希望。 

    然而，当你与老年人交谈，你会不由地得出如此结论：人变老是令人幸福还是令人不快，并不怎么取决于金钱或健康，而主要取决于你寻找乐趣的能力。

21. 第一段的信息暗示人们             。

A．高龄人喜欢与他们的亲戚居住在一起           B．社会性服务于高龄人无关

C．为享受更多人身自由，老年人愿意独居         D．高龄人能使他们的房间保持清洁

答案：C  常识判断题

22. 根据一些社会服务人员，                 。

A．健康与安全比人身自由更重要                B．人身自由比健康与安全更重要

C．老年人应保持室内清洁                      D．人们不应冒险与老年人打交道

答案： A  细节题。见第一段最后一句

23. 在作者看来，                 。

A．人的身体不能与汽车相比         B．人越是年老，就越需要照料

C．人们过分强调老年人的价值观 

D．身体的舒适度、清洁度及条理性对于老年人没有必要

答案： B  细节推理题。见第二段第二句

24. 最后一段中的斜体字“it” 是指           。

A．你所得出的结论      B．你与老年人的交谈     C．人变老是令人幸福还是令人不快

D．一个人的金钱或健康       答案：C  本题测试对句子的理解

25. 作者认为             。

A．对于老年人的医疗性决定应该由医生来做

B．只要老年人很富有，他们便可幸福地享受生活

C．我们应尽最大的努力挽救老年人的生命，这种观点的正确性令人怀疑

D．从道义上说，医治老年人以驱走死亡是正确的做法

答案：C 细节题。见第二段。A、B两项与文中观点不符。

    如果没有恰当的计划，旅游业能引起一些问题。例如，太多的旅游者能使得同样被当地人所享受的一些公共地方拥堵。如果旅游者引起太多的交通问题，当地人就会变得恼怒而且不开心。他们开始讨厌旅游者，并且不礼貌的对待他们。他们忘记了旅游业能帮助国家的经济带来多少的收入。考虑到目的地国家的人们和旅游怎么样影响了他们，这是很重要的。旅游业应该帮助一个国家保持吸引游客的风俗和美景。旅游也应该给当地居民更多的带来财富和快乐。

    太多的旅游可能会成为一个问题。如果旅游业发展太快，人们必须从其它行业离职来为旅游业服务。这意味着国内其它地区的经济会受损。

    另一方面，如果没有足够的旅游业，人们会丧失工作。生意也会亏损。为了吸引旅游者，将会花费一大笔钱来造大的旅馆、飞机场、到达飞机场的公车站、最好的公路和其它的支持设备。例如，一个主要的国际级的观光酒店就会每间房间花费5万美元之多。如果这个房间绝大多数时间是不用的，酒店的所有者就会亏钱。

    建造一个酒店只是一个开始。也将会有包括到达酒店的道路、电力设施、下水道处理废物和水在类的许多支持设备。所有这些支持设备都会花钱。如果因为没有足够的观光者它们不被使用，那么工作和金钱都会丧失。

26．第一段中单词“inhabitants” 意思为             。

A． 游客     B. 乘客      C. 居住者    D. 人口

答案： C inhabitant意为“当地人，居住者”。

27. 太多的旅游会引起所有这些问题，除了            。

A．给他们的工业带来负面的影响           B．游客风俗习惯的改变

C．旅游胜地过度拥堵的交通               D．交通的压力

答案：B  文中A C D选项都有涉及，而B文中是说 “Tourism should help a country keep the customs and beauty that attract tourists.”

28. 能从文中推测出            。

A．作者不喜欢旅游业发展这么快       B．当地居民会从吸引游客中获益

C．一个国家经济的其它部分不会从旅游业中获益

D．我们不能建造太多的支持设施       答案：A  由文中划线部分内容可知。

29. 作者认为让当地人知道旅游业将        是一件好的事情。

A．浪费好多钱        B．削弱他们的经济           C．帮助建立他们的风俗习惯

D．帮助改善他们的生活           答案：D   ABC均与文中内容不符。

30. 文章的主要内容是               。

A．旅游业使当地居民面临很多问题，负担加重

B．旅游业需要一个合适的计划 
C．旅游业需要建筑和酒店的支持

D．旅游业能给人们带来更多的工作 答案：B  文中第一句话既点出文章的主要内容。 

大学已为我们人类文明培养出了知识先驱——教士、律师、政治家、医生、科学家和文学家。现在的商业行为也离不开知识想象力，这样的想象力过去主要只在上述各行各业中才能找到。 

人类要求更大的发展还面临一个重大困难。当前,这一困难朝不利方向发展的可能性甚至还在进一步增大。在所有的大企业中,刚参加工作的小字辈都必须从那些上面让你干啥就干啥的工作做起。任何大公司的总裁都不会在自己的办公室门口将本公司责任最重大的工作交给他最年轻的雇员去做。年轻人只摊上一些按部就班的琐事的份儿,只有在总裁进出公司时才能偶尔见着他的身影。干这样的工作能得到很大的锻炼。可以学到知识,培养责任心,是一种唯一适合刚参加工作的年轻人从事的工作。这种惯例本身无可指责,但可能有令人遗憾的负作用——长期按部就班的工作会削弱想象力。 

大学应该在为大学生从事某种知识型的职业,如现代商业或某种更古老的职业,作一些准备性工作的方面发挥作用,（发挥作用的途径就是要培养大学生对该行业具有普遍意义的各种原则作出创造性思考的能力。这样,大学生们就带着他们已在将琐细事物与原则的联系中实践过的想象,进入了技术学徒阶段。于是琐细的工作从此就具有了意义,而且反过来还能说明赋予其意义的各种原则。因此,训练有素的人所面临的不再是单调乏味的工作所导致的墨守陈规,而是有希望获得一种受详尽的事实和必要的习惯所规范的想象力。 

因此,大学的正确作用就是通过想象创造性地获取知识。排除了这种想象的重要性,从事商业或其它职业的人们就完全有理由依照各种场合的需要去就事论事了。一所大学不具  有想象力,不说一文不值——少说也没什么用处的

31 根据短文，          是从事各种行业的基本要求。

A． 想象力               B. 性格的可靠性

C． 纪律                 D. 对命令的顺从

答案：A 细节题。见第一段3-5行。

32. 下列哪一个选项最适合作短文标题？

A．大学的局限性                B．大学的恰当功能

C．具有丰富想象力的重要性      D．实习期的荒唐可笑

答案：B  归纳推理题。考察队全文大意的理解。见第一段和最后一段第一句。

33.在现代化时代，实习期           。

A．可能对年轻人造成不良影响    B．很可能会锻炼年轻人

C．是许多罪恶的根源            D．对于雇员及企业都没必要

答案：A  细节推理题

34. 如果一所大学要对社会有益，它应通过       使学生为智力职业做好准备。

A．传授知识及培养技能          B．培养学生独立思考的能力

C．在学生的学科方面严格管制     D．在将细节与一般原理相联系过程中提高其想象力

答案： D  细节题。见最后一段的第一句和最后一句。

35. “有一大困难阻碍人类做出更高层次的努力”是指        。

A．在实习期所做的长久而固定的乏味工作     B．年轻的雇员很少有机会见到公司领导

C．大学未能使学生为将来的工作做好准备     D．年轻人在工作初期不得不顺从命令

答案：A 归纳推理题。对第二段的主题句与拓展句的关系的理解。

PartIII  Vocabulary and structure:
36.We learned that the next entertainment（娱乐） would        of ballet（芭蕾舞） entitled The Golden Harvest（金色的收获）

36.答案：A  consist of 意为“由…组成”，insist 意为“坚持”，resist意为“反对，抵抗”，assist意为“帮助，援助”。

37. Overwork（过度工作） often         illness（疾病）. You must be careful about your health（健康）now.

37.答案：A  induce意为“导致，诱导”， reduce意为“减少”， introduce意为“介绍”， produce意为“生产，产生”。

38.We were completely（完全的，彻底的）          when we finally（最后） reached(到达) the destination（目的地）.

38.答案：C     were away 意为“渐渐消耗，慢慢度过”，were down意为“挫败，慢慢破坏”，were off意为“磨灭，消耗，渐渐消耗”，were out意为“穿旧，使疲乏不堪”。

39.Time presses（紧迫）. It’s no use talking only. Let’s         to some solid（具体的） work.

39.答案：C  come down 意为“败落，下降”，lay down意为“放下，阁下”,get down 意为“落下，写下，开始认真对待”，look down 意为“俯视，蔑视”

40.When you apply（申请） for your passport（护照） to be renewed（更新） , you have to send a       Photograph.
40.答案：C    fresh意为“新产生的，新鲜的”， present意为“现在的，在座的”， recent意为“最近的，近来的”， modern 意为“现代的，时髦的”

41.The old lady was standing by an electric（电力的） heater（加热器）, and her nightdress（睡衣）      fire.

41.答案：B catch fire为固定词组，意为“着火”

42.They will be given an opportunity（机会） to exchange（交换）        next week.

42.答案：B  voice意为“声音”， view意为“观点，看法”， vision意为“视觉，景象”， mind意为“愿望，见解”

43.Although they had a quarrel（争吵） the other day, Jim and Peter are now on friendly terms（关系）         .

A as well       B. as soon       C. as usual       D. as normal

43.答案：as usual 意为“象往常一样的”  as well 意为“也”，as soon as 意为“一…就”.

44.The engineer’s（工程师） hard work and popularity（名望） led to（导致） his rise（上升，增加） in salary（工资） and        in position（地位）.

44.答案：B  possession意为“财产”,promotion意为“增进，提升”，resolution意为“决心，果断，解答”，regulation意为“规则，规章”。

45.While in London , we pay a visit to（参观e hospital founded（建立）       the nurse Florence Nightingale.

45.答案：B   in place of 意为“代替”，in honor of 意为“为了纪念…”，in favor of 意为“赞成，支持”，in line with 意为“和…一致，符合”

46.As is known to all（众所周知 metal（金属）         as it grows cooler（冷却）.

答案：A contract意为“收缩，缩小”， retreat意为“隐退，后退”，condense意为“使浓缩，聚集”， compress意为“压缩，使简练”。

47.I’m going to buy a house, modern comfortable（舒适的） and          in a quite environment（环境）.

47.答案：D  before意为“在…之前”，in all意为“总共”，after all意为“毕竟”，above all意为“尤其是，最重要的是”。

48.Marry has great acting        ,but she needs training（训练） to be a real actress（演员）.

48.答案：A  potential意为“潜能，有潜力的”，possibility 意为“可能性”，probability意为“几率，或然性”，productivity意为“生产率，生产能力”

49.Even with his remarkable（非凡的，显著的） achievement（成就） , Mary’s husband still holds a       position（位置） in the local（当地的） government（政府）.

49.答案：B  little 表示数量少的，minor 意为“较少的，次要的”，tiny意为极小的，small表示体积形状小的。

50. Proper（恰当的）        can ease（快活，宽松） people’s relationship（关系） and make their conversation（谈话） more pleasant（愉快）.

答案：C   insult意为“侮辱，攻击，袭击”，speech意为“言语，演讲”，compliment意为“恭维话，贺词”，noise意为“吵闹声”。

51.The student was just about to         the question, when suddenly he found the answer.

答案：D  arrive at意为“到达”，submit to 意为“屈从…，甘受”，work out 意为“计算出”，give up 意为“放弃”

52.Having a cup of tea while reading the newspaper is one of my favorite（最喜爱的）         .

A. manners       B. times       C. occasions      D. pastimes
52.答案：D  manner意为“风俗，习惯”，time意为“时间，时光” ，occasion“时机，时刻”， pastime意为“ 消遣，娱乐”。

53. The boy is thoroughly（彻底的，绝对的）          because his parents always give him whatever he wants.

A. destroyed      B. spoiled       C. uneducated   D. wasted

答案：B destroy意为“毁坏”，spoil意为“惯坏，溺爱” ， uneducat意为“没教养的”，waste意为“浪费”。

54.It is not easy to         the ability(能力) to speak fluent（流利的） English or write idiomatic（符合语言习惯的） English.

54.答案：B attain意为“达到，获得”， acquire意为“取得，获得，学得知识”， obtain 意为“得到，达到”，gain意为“博得，吸引”。

55.When I saw Jane, I stopped and smiled, but she      me and walked on.

55.答案：D  defy意为“蔑视，使落空”， exclude意为“拒绝，把…排除在外”， miss意为“想念，错过”， ignore意为“忽视，不理，不顾”。

56.Not only Tom but also his wife        fond of （喜欢）watching television

答案：D  not only …but also不但……而且，be动词和为but also 后面的部分保持一致。Not only Tom but also his friends have read this book.

57. Whether the Army or the Navy        it, it should be done soon.

答案：D   主语是Navy,和56题一样。

58.        great was the destruction（破坏） that the South took decades（十年） to recover（恢复）.

A. Very         B. Too            C. So             D. Such

58.答案：C  句中有that故用so、such,但so 后面接形容词，such 后面接名词。

So……that如此……以至于

59.        a certain doubt（怀疑，疑惑） among the students as to （关于、对于）the necessity（必要性） of the work.对于这项工作的重要性同学们之间还存在疑虑。

答案： A. There existed相当于there was

60.       may happen, we will not change our plan.

A. No matter when      B. No matter where    C. No matter who    D. No matter what

答案：D  句意为：不管发生什么事，我们都不会改变我们的计划。

61.The farmer used wood to build a house        to store（贮存）grains（谷物）.

61.答案：D   本句是由which引导的定语从句，其先行词是house，而有词组in the house ,故选D,相当于where.

62.We were all overjoyed（狂喜） at the news        the experiment（实验） turned out(结果、证明是) a success（成功）.

62.答案：A  本句是由that引导的同位语从句。

63. I intended          yesterday, but I had to attend（参加） a meeting.

A. to come 表示将来打算做某事       C. to have come表示本来打算做某事，结果却没有做。答案：C  

64.The story was so funny（有趣的） that the girls         help laughing.

64.答案：D can’t help doing 表示不能控制住…  so……that如此……以至于

65.I think much attention（注意）         your pronunciation（发音）.

A. must be paid to      B. ought to pay     C. must pay to     D. should be paid by  

65.答案：A 是被动语态 pay attention to 意为“关注，注意…”。
Part IV  Cloze .
    在我们生活的世界里，魔术是永无止尽的。如今最出色的魔术师仍然是化学家和物理学家，数学及天文学家，他们一直在寻求解开地球和宇宙之谜的答案。但没有一个人能告诉我们人是如何能在地面上行走的。“万有引力定律”曾经是这个问题最适用的答案。

    万有引力可能是世界上最熟悉的东西。在我们成长的过程中都听过牛顿、苹果和万有引力的故事。最近有物理学家说万有引力可能只是一个幻觉，那么我们能在地面上站稳，家具不漂浮到太空去就纯粹是魔术了。只要魔术能起作用，幻觉继续，谁管呢？也许只不过是一个用词的问题，因为对于魔术的解释各个学者没有达成一致的意见。但不可否认的是人类最终明白并解释了奇异的现象后就不会称之为魔术，而是称之为科学。

66  A 永远    B 已经    C 极其      D  仍然

  答案：D   根据句意，选项D合适，意思为“仍然”。

67  A为了 ……  B 向……  C 关于……  D 在……之后

  答案：B  固定短语搭配“answer to” 

68  A not one    B not any   C none one    D no any

  答案：A  短语“not one of …” 是正确的。

69  A  在……上面   B 沿着……C 穿过    D  在……下面

  答案： C  根据句意，选项C合适。

70  A used to be   B is used to   C  has  used to  D  used to be

 答案：A  短语“used to do sth” 意为“过去常常”；短语“be used to doing sth” 意为“习惯于……的”。

71  A 在……上面   B 作为    C  通过     D  向……

 答案：D  同题67

72  A最近     B 可能    C  非常地   D 十分

答案：B 根据句意，选项B合适，意思为“大概”。

73 A  在……里面  B ……的  C 向上  D 在……上面，关于

答案：C 固定搭配短语“bring up” 意为“抚养，教育”。

74 A 最近   B 小的    C 正好的    D  最后

答案：A  根据句意，选项A合适，意思为“最近”

75  A  经常  B  只有   C 几乎      D 真正地

答案：B 根据句意，选项B合适，意思为“只有”。

76 A 但    B  然而   C 和       D  然后

答案：D 根据句意，选D合适，意为“那么，然后”

77  A 打破    B 放    C  保持    D   紧随

答案：C  根据句意，选项C合适，意思为“保持”

78  A   为……  B  来自    C  在……上面   D 通过

答案：B 固定搭配“keep ……from doing sth” 意为“阻止”

79  A 只要      B 好像    C 以致    D 例如

答案： A    根据句意，选项A合适，意思为“只要”

80 A 盖   B 形成     C  维持       D 适应

答案：C  根据句意，选项C合适，意思为“维持”

81  A   真正地     B 完全地     C 通常     D 也许

答案：D 根据句意，选项D合适，意思为“也许”

82  A 与……  B 在……  C 关于在……周围   D 关于

答案： D  短语“agree on” ，“对……意见一致”，“agree with”，“与……相符合”，根据句意，“agree on ”，更合适。

83 A when     B what     C that      D since 

答案：C 同位语从句

84 A 徘徊     B 奇迹     C 困难      D 理论

答案：B 根据句意，选项B合适，意思为“奇迹”

85  A 科学     B 重量   C  家具       D 测量

答案：A 根据句意，选项A合适，意思为“科学”

Part V Translation参考文章译文

Part VI  Writing
Global（全球的） Shortage（缺少） of Fresh（新鲜的） Water

     We often think that water will never be used up（用光）. There is plenty（足够的，大量的） of water, such as（诸如） rain, water from the river and wells（井水）. It seems（看起来） as if（好像） water is always available（可以得到的，可利用的） and we never have to worry about（担心） water shortage（水资源短缺）.
    In fact（事实上） water is rather（相当的） limited（有限） on the earth. With the increase（增长） of population（人口） and the development of industries（工业的发展）, water is more needed than before（比以往更多地被需求）. At the same time, a large amount of （大量的）water has been polluted（污染） and wasted（浪费）. Some cities in China are facing（正面临） a crucial（严酷的） problem of water shortage and water supply（水供给）。

    What should we do about the water shortage?我们该怎样解决水资源短缺的问题呢？ I think people should be aware of （意识到）the real（真实的） situation（形势） about water shortage and consciously （自觉地）save（节省） water. The government（政府） should make certain laws （制定一些法律）to protect（保护） water resources（资源） and take effective measures（采取有效的措施） to exploit（开发，利用） water supply. Therefore（因此）, we will not be thirsty for （渴求的）water in the future（未来）.
